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10.  + 0/3 points LarTrig

Consider the following.

¥x=1+cos#d

y=1+7sing

(a) Sketch the curve represented by the parametric equations (indicate the orientation of the curve).
(b)) Eliminate the parameter and write the resulting rectangular equation whose graph represents the curve.
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Adjust the domain of the rectangular eguation, if necessary.
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Coordinate Conversion

The polar coordinates (r, @) and the rectangular coordinates (x, y) are related
as follows.
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Flot the peoint given in polar coordinates.
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Tricky ones involving arctangent
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Section 6.8 - Graphs in Polar Coordinates.
I want you to READ the symmetry tests. We'll use them next time.
For now, I'm looking for the basic skill.
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Do you know what Spirograph is?
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5 + 0iT points

Plot the point given in polar coordinates.
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Find three additional polar representations of the point, using -2m < & < 2m. (Enter your answers in order from smallest to
—
largest first by r-value, then by G-value.)

eor w1
NeTE ,5?-4_)17 >2T, 50 we haw—a +o A—? Saven .

T . SV-9h _ _37 ~37T
,_—_Q.‘G_ — e —:(- —D (\’ [y

|

——

=]
—

|
oY)
=

Noh)/ uge vr=-—\ (S.."'\t Lau\ﬁ'l'k\ I >
Cer Lo ~v wer «s 3

, T\ |
'1'6—5 ["/ "'\-4\ .

5

d -
N.W,Q\»LLIHL(,‘L eI 7«) ., 3 one

T - =BT | _2w '-a-v)
Toaw= o 2T s G-



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

